normalized X?

[ normalized x? probability |

chiz chiz_prob
Entries 24034 Entries 24034
Mean 1.043 [ Mean 05293
Std Dev 0.7698 + |std Dev 0.3226
R 0.05f - -
: chiz 7 5o
2 +_[Entes 72416 Entries 12416
10 + 7| Mean 0.988 Mean 05659
+ [stdpev 0.6698 0.04F + - [std Dev 0.3165
: chi2 chiz_prob
107 = & - | Entries 42416 Entries 42416
+ | Mean 0.988 0.03F- - | Mean 0.5659
Std Dev 0.6698

0 2 4 6 8101214161820

X2

< x2/ndf >

Ratio

Std Dev 0.3165

.2 0.3 04050607 0809
Prob(x?)

T

op,1p. > (%)

m=me= DQM_V0001_R000000001__Global
mmsm DQM_V0001_R000000001__Global
— DQM V0001_R000000001__Global

|__cmssw1000time__RECH
__mkFitNewOLD1000time__|
|__mkFitNewDUP1000time__|

O

Ratio

< x2/ ndf >

Ratio

3 “Ve—

0. ++

S |

107 1 10

10? pw3

<dpp. > (%)

Ratio

T’Tf W I

TPn (PCA to beamlme)

< X2/ ndf >

Ratio

1072

-1
AR(track, jeltS)



	Contents
	Page 1


